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(a) AR A={0,1,2,3,4}, B={1,3,5T} £TB. COL¥ HE 4
Y BOBES ANBERD &,

(b) £B% A= {a,b,c,d}, B={a,be,f} £TH. cDLE EHRAL
B OWMIESE AUBZRbH &, '

(c) BEZ A={a,b,c,d}, B={c,d,e,f} T3, D& HEEAL
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(d) £E2 A=1{2,4,6,8}, B={a,b,c} £F53. CDLE HEAALB
DEFRAx BERD K.

(¢) & A = {a,b,c} LORMEBIRE R = {(a,a), (b)), (c,c)} LF 5.
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#include <stdio.h>
int f{int);
int main(veid) {
int n;
for(n=1;n<=20;n++) {
printf( "£(%d) = %d \n",n,f(n));

¥

return O;
T
int f(int n){
ks
EITHER
£(11) = 89
£(12) = 144
£(13) = 233
£(14) = 377
£{15) = 610
£(16) = 987
£(17) = 1597
£(18) = 2584
£(19) = 4181
£(20) = 6765
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1) z=2y-x'y+y’

2) z=c¢(cos y+2sin y)
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1) ”(Zx—y)dxdy D: 0Osxs=l, 0sysx
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2) J.J‘ (x+2y)dxdy D': 0sxxzl, 0=y=x
o

3/3



